STEVES AND SONS ] P
203 Humble Ave. E et pu?b B 2 o
| San Antonio, TX 78225 Sxeigiedh ClER § S
s iEE el |5, 48 ZC
2N NSiBie @Bg [0d g7, 2l
ETEVEE 54.50" MAX. OVERALL 30{% iwiy g ﬂ 2 ¢ g 2 =
_ 71.5" MAX. OVERALL (= FRAMEWIDTH  — gui U izio SIERISK 284 32
FRAME WIDTH w/ 2X REINF. w/ 2X REINF. ?a,;{g Q1 V(g»&‘\cll\ 3 338 2%
e iZ i S 2 W
70.0" MAX. OVERALL 53.75" MAX. OVERALL "zz{‘ WIS Pl . £8° ‘éé
Ve ran d a FRAME WIDTH w/ 1X REINF. —~  FRAMEWIDTH = =~ Mindon™ g °%g oy
. . 37 50" w/ 1X REINF. 3 28, by
; 37.50" MAX. 8 2.5 o
Opaque Fiberglass Single Door A s L e Pogsia
[$]
w/ or w/o Sidelites FRAVE WO b i R T -
FRAME WIDTH s g 5
3
INSWING / OUTSWING Il ——i
" ] = —
NON-IMPACT = 5 S — _
z Z 29
s 2 25 | o3
EVALUATED FOR USE IN THE STATE OF TEXAS 2o & % = CZ;§
[T o o ==
The Fiberglass Door described herein complies with the 2006 International Residential Code (IRC), = § g g | Z283 |5 < &
Sections R301 & R413 and the 2006 International Building Code (IBC), Sections 1405.12, 1609, 1714.5, é 2 45 ® X &é S ?, 3
2403 and 2404 (including Texas revisions) subject to the following conditions: >~ 00 = = € |ol Yo
O > o) E% 9 e
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to base material % <§< IRAIT S =
shall be beyond wall dressing or stucco. z i § ° % &
2. When used in areas requiring wind-borne debris protection this product is required to be protected o 3 2 E &
with an impact resistant covering that complies with Section R301.2.1.2 of the IRC and Section > | . & &
1609.1.2 of the IBC. L >
3. Allowable design pressure requirements must be equal to or less than the design pressure rating | R —
shown in the design pressure chart, sheet 1 of this drawing. H ) )
4. Conditions not covered by this drawing are subject to further engineering analysis. ]5‘52R?AAQ)E(.V(VSII§T%HE) 15.50" MAX. (SIDELITE) §
SUPPORTING DOCUMENTS & EVIDENCE JL 075" (131 O 1 50" 1 N F(RJAME ;‘,{'DTH 2
1. Testing per AAMA/WDMA/CSA 101/1.5.2/A440-05 : 75°{1X) OR 150" (24 = 075"{(1X) OR 1.50° (2X o L
Testing Evaluation Laboratories, Inc. test report(s) #: TEL 01530200 & TEL 01530201. S =
2. Calculations (Anchoring and Glass load resistance report ASTM E1300-04) prepared T TEUTEEE — ey f 0
by Lyndon F. Schmidt, P.E. - A, | TNwe | omwns il
3. Cerlificate of Participation issued by the National Accreditation and Management Institute, Inc., CONFIGURA __bio. — e ol |*
certlifying that STEVES AND SONS is manufacturing products within a Quality Assurance program. - | DIMENSION | NEGATIVE | POSMIVE | NEG %
3
TABLE OF CONTENTS X 37.50" x 98.00" N/A -45.0 +40.0 S
SHEET # | DESCRIPTION =
1 Typical elevations, design pressures & general notes X** 37.50" x 98.00" N/A +50.0 -55.0 +50.0 -50.0 N
2 Door panel details IS
3 Sidelite panel details - OX/XO | 5375"x98.00" | 7.00"x79.87" | +40.0 -45.0 +40.0 -40.0 M
4 Horizontal Cross Sections ~2
A . sk
5 Horizontal Cross Sections . /zﬁzfm/e XO™ | 54.50"x98.00" | 7.00"x79.87" | +50.0 -55.0 +50.0 -50.0 onE: 5,/19/10
6 Vertical cross sections st NTS
7 Vertical cross sections OXO " " " " i
5 ok & fois oo w/1x Mull Reinforcement| 7 0-00" X 98.00 7.00" x 79.87 +40.0 -45.0 +40.0 -40.0 DWG. BY: LJFKS
9 Glazing Details OXO** . . " . o
10 Bill of materials & components w/2x Mull Reinforcement RIERE RS il +50.0 -55.0 +50.0 -50.0 DRAW';(; NO{; 094
¢ Requires Securify Strike (ltem #24A) and Corner Screw (item #59). _
SHEET _1 oF 10

\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, TX-4094

© 2010 R.W. BUILDING CONSULTANTS INC.




EXTERIOR

v

/4

@‘1

35.75" MAX.
PANEL WIDTH

1

\ [

95.25" MAX. PANEL HEIGHT

® @

@
BN

2
o |

|
S

. DOOR PANEL
Fiberglass

S
o .
g L

46

— —<r

/1" HORIZONTAL CROSS SECTION

\2/

2.

——— 31.52" __>’( 240" 4]

_ I

DOOR PANEL

Fiberglass
SHOWN w/o FACE SKIN
FOR CLARITY

— 1.20"

~—1.60" ——

@ 43 HINGE AND LATCH STILE

Wood

— 120" |=—

|<—— 1.60" *l

46

®

3.90"

ot

/4

//

EXTERIOR

LITE FRAME REINFORCMENT

Wood

‘ TOP RAIL BOTTOM RAIL
Wood . Composite / LVL

i/

7“2\ VERTICAL CROSS SECTION

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

STEVES AND SONS
FIBERGLASS DOOR
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

K
BY

7/16/15 |Manuf./Product Name Change

1

NO,| DATE

oae: 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4094

SHEET _2 oF 10

\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 2-3

CERTIFICATE OF REGISTRATION # F—11852

REVISIONS

© 2010 R.W. BUILDING CONSULTANTS INC.



.\‘-\,\'\7‘,\\\}111

ot = & B
:Y"%’...”E 2, \"'\.)
A S

=
cQ2-r &

MID
. \'\:\_’\

&y

hA

I A‘ oW

Wy

el
hslo
A

| %
-
~

TEXAS P.E. #104123

Lyndon F. Schmidt, P.E.

813.659.9197

7

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:

14.00" MAX.

PANEL WIDTH S
7" MAX, " I @ |
D.L.O. WIDTH D" ol

/"1 "\ HORIZONTAL CROSS SECTION

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

] 3/
— | == qd-. 2
./ cl N =
/ E 39 )
I =2 Is o
m © . 1.6" —— 2A) 2 <= g‘ ~
- % y) mé:b Wl g
3/ P L 1 sk (95
= 5 lLT)LT_ '-5'
6 = ? N a5 INTERIOR EXTERIOR © 5 &
< o 1 S £
T T : 2 &
o g o a
z ©
I = x|>
o Qa o
> e 1 I
: 3 O @SIDEHTE BOTTOM RAIL )
o i 2|
N o e 5
, ey - 2
/ / g, Bl |
Al I (i T &
3 3 16— | @ D @ :
| — o s
2 ¢ 1 —— Wee :
1.20" N
.SIDELITE PANEL I T = N
Fiberglass 53 = %
oATE: 5/19/10
SCALE:
ODL LITE FRAME SCREWS (ltem #3): SIDELITE STILE ) SIDELITE TOP RAIL . N.T.S.
HEAD/SILL (2 total), 2" from corners @W Wood DWG. BY: JK
JAMBS: (8 total), 6.5" from corners & 10" max. o.C. m VERTICAL CROSS SECTION cHk. Bv:  LFS
RSL SIDELITE FRAME SCREWS (ltem #3A): \y DRAWING NO.:
HEAD/SILL (2 total), 2" from corners TX—4094
JAMBS: (8 total), 3.25" from corners & 10.75" max. o.c. s 3 or 10

\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 3-3

© 2070 R.W. BUILDING CONSULTANTS INC.



*ON| SANVLINSNOJ aNIating ‘Mm'd oLoz @

ZS8LL—4 # NOLWVMISIORY 40 IUVOLILLNIO SNOISIA3 :
SHIINIONT TYNOISS3H08d 40 ay¥vod Svx3l SNOILOIS SSOND TVINOZINOH wm S SN g R mpw%wwm Jz o e B « m_
L616°659°C1l8 "ON euoyd : N = Pl3S] 9w
G6SES 14 OOMIPDA 0SZ Xog .O.&\H\M«@. A1GW3ISSY ¥O L¥vd m M . m o
*ONI ‘SINVLINSNOO ONIaTiNg AN - g v_A 4_
4000 SSY1943414 0 ARAERS
CZLbOL# 3'd Svxal SNOS aNV S3AILS MEIMEREE:
‘I'd ‘IPIWYDS °4 uopuk :Ag pelpdeid sjuswnooq :109Nao0yd _DM g W 5 m &
_S/~2
‘e AL
oo \
bun”.wnpw J<20 %%--
SR 83SNTTs %
g G
g0 ezivoL 9

2 .W .......... WS J
.-Hﬁﬁu arﬂ.m()wn()u( ’ 1

9P

A\

/"2 HORIZONTAL CROSS SECTION

\\U Inswing shown - outswing
also approved

D
X
ﬂz\/z\ (4N
0.15"
C'SINK
(rve)
7
INTERIOR Cg

I
o)
¢/ 2\
\5 /
|
(16)
EXTERIOR

J
=
4
SIS

\
(4
N

<,
X
/3\/2\

10
N
EXTERIOR
INTERIOR

\

(TYP.)
(16)
7

0.15"
—=—| |=— CSINK

©

=

m HORIZONTAL CROSS SECTION

W Inswing shown - outswing
also approved

VAVE!

EXT. SHEATHING 7

-1 'BMP'S6-Z601-X L\SuI JO 1daq sexa]\1usueuwlad - SUOS pue saAdIS\suaID\



\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 5-3

4

h (o)
|
jlied X
a N\
/ﬁi lﬁ_\ﬂ

a0

SEE NOTE 2

(50)

EXTERIOR

\

W

SEE @
NOTE 1 @é (40) INTERIOR

m HORIZONTAL CROSS SECTION
w Inswing shown - outswing
also approved

DRY\A-IALL4 —/ ‘-

EXT. SHEATHING 7

0.15"
C'SINK
@ﬂrm)

SEE
NOTE 1

/"1 "\ HORIZONTAL CROSS SECTION

&/

Inswing shown - outswing
also approved

T

)
\

N_\.\"\,\'\.‘.'\.'\.‘L'.L'L\_Il L‘
ST *iE Q3 by
S i 2199 3
= _\_‘?‘..-‘ ISt T ("; \
Sy i 9%
g e 4 N
SEN 000 ey
335%;{’3;&‘ ot G
Zan ¥ izis &3E
o 101 ¥eX (N
G, 181 &
O i Z Lk S
zll*if’ﬁ' v

@ @ SEE NOTE 2

\

(3

() @)

HORIZONTAL CROSS SECTION

\5/

Inswing shown outswing
also approved

hlxxxx;\x\"e'

EXTERIOR

INTERIOR

SEE

NOTE 1

A
NOTE:
50

1. Sidelite ass'y fastener; 6" from each end and
6 more screws equally spaced between.
(8 screws total per jamb.)

2. Shown with 1X mull reinforcement.
2X reinforcement similar.

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
FIBERGLASS DOOR
HORIZONTAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

BY

7/16/15 |Manuf./Product Name Change

1

NOJ[ DATE

REVISIONS

oATE: 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4094

SHEET _ 5 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 6-3

DRYWALL X\ ' ;

=

EXT. SHEATHING

ol

6

INTERIOR

INTERIOR

hZg
/ SOE
" EXTERIOR
/ 1"\ VERTICAL CROSS SECTION
\6_/ Inswing shown - outswing
also approved
EXTERIOR
/]
1) woob
P ) CONCRETE
o 30
L

7“3\ VERTICAL CROSS SECTION

w Inswing configuration

INTERIOR

//

EXTERIOR

»;\:\\YC"\}:\I‘&{’: L}‘
~, Nl [\
o O o9
G et = e, 00 N N
~ Y:/‘-' HE R N i <
ﬂ_\_ K ¢ ¢ . /‘.) (\
Sy (X %z
[ Y Otn OLwhD
P TN Wy ¥
::LLg Y 51— (28 :‘é
A S S
0= t_ O =
G\ itz ONO
O\ PR O STA
XA :0: WD
{)t‘?-.‘ e
W t— 3 o Ve
ez& -...E; Seet QF'::J
11* ®)iZj: VoL
Tt

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

/" 2"\ VERTICAL CROSS SECTION

\é/ Shown w/ ADA threshold

INTERIOR

//

EXTERIOR

m VERTICAL CROSS SECTION

\U Outswing configuration

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
FIBERGLASS DOOR
VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

K
Y

7/16/15 |Manuf./Product Name Change

1

NO, DATE

REVISIONS

DATE: 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4094

SHEET _ 6 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNGOJ aNIaing "My 0L02 @

2S8LL—4 # NOLVAISIORY 40 ILVOLLLNIO = SNOISIAIY O

S¥IANIONI VNOISSIA0Nd 4O QuvOE SvXal o O_
? TmosSion o o SNOLO3S SSOY0 WO | — ooy ez e s /|| 2| 6|2 3 |
. g pey : ~ =l . ols

S6SEE 14 OOUIDA OSZ X0 “O'd \g. L ) pa= : 9
"ONI ‘SLNVLINSNOO ONIGTING N EEER 7_

¥00d SSY1943814 B 5] gle X
€ZLYOL# '3'd Svxal SNOS ANV S3AILS wldls|¢|E &
"3'd WPIWYDS 4 UOPUAT  :Ag pesdeid sjuswnoog :10NA0Yd HEIHEE &

EXTERIOR
50

7“2\ VERTICAL CROSS SECTION

w Outswing configuration

INTERIOR

—
/ EXT. SHEATHING

("dAL)
ANISO
e WSG1°0 h
e ”%
274 G
@) o]
® g g
ST = B
Ll Cg e3
re| ge]
o< <0
\ ._ N 275
/ 83 =8
ozl W QL =
N U[sE 52y
LOV O Can
A.mm Zl A8 0
Sy K
T A r IS0
N — o N
\ z mv
@ o |
= W L
OREE o =
s o  Z
> Z
[a)
o S
©) =
o Q
= a
5 Q5
e
o
< 3
Vo
£l
NE
O
oz
L
T
pa

€-/ 'BMP'S6-Z60-XL\SUJ JO 1daQ sexa|\lusueulIad - SUOS pue saAdIS\sIUaID\:



G |u
2X FRAMING TO BE DESIGNED BY THE ENGINEER OR ARCHITECT OF RECORD 0-@-:\”:}“1111 > l_g
BASED ON WIND LOADS AND THE CLADDING BEING USED. .c"'%‘" * c ‘;._;"33;32;‘ N %,3_ 0 gg
S RN X U S S|
S iT SCAN M K B £
[ e gy ou 9 9
i dgin® BB | fer 255 6
451 wie Gz cg gl g%
o~ % iziS oz |4 280 2Z
3 G O, 91 FXEA|ST 538 g8
; G, 8 S p>"n
I‘\]—> T 3|| — 1 3" e 2121?“. :’(..::_zJ & ?Q\:?"':d g |9) © E %
2 7" —— ‘ 7' —] <—4" “I'T Mo & gl oE
- L _ i S P OEa ) S
1 1] = T R CIfi o i § 593 Qu
— —_ < g - | —|| — . & moa g
% 5 é k
_ _ E R B
TYP. HEAD & TYP. HEAD & i — 1 — — . . §
JAMBS JAMBS TYP. HEAD & =
- — | — _ _ = R | | JAMBS = _ J o
T Eﬂ il =
* Nor [:OC
_ : z 38| ¢
- = | —- = = - | _ | Z
N FRAME X & -~ B 29 |5 w
< o > o 3 < 5 a’ E
S E j_ g = = no |3 &
- -12g - = 0 5 I - 2% g g8 |3t
X0 . O Lo |2 =
2XBUCK\ e -3y Ao = k| o
0 WOOD b3 (1) woop 3 oS
- . (TYP.@SILL)™|[ &8 O ° — 1 (TYP. @ SILL) — = i g
(P)concre | =© (P )CONCRETE
3 >
£l o
LTl L . IR ie 21| FE
% B - :
)\ g
FRAME ANCHORING FRAME ANCHORING HINGE JAMB FRAME ANCHORING STRIKE JAMB ©
X) (OX) (OXO) E— 2 o
O
o
FLOOR SUBSTRATE MATERIAL f 7}
CONCRETE (MIN. 3000 PS) 3 @
s o)
WOOD (S.G. >=0.42)(TYP) @ l” g
CONCRETE ANCHOR NOTES: E
1. Concrete anchor locations at the corners may be adjusted to maintain the min. =
edge distance to mortar joints. 0] 7@ i
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to 1 %) e
maintain the min. edge distance to mortar joints, additional concrete anchors S S
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. il Il
3. Concrete anchor table: 0 - S
ANCHOR |ANCHOR |  MIN. | MIN. CLEARANCE | MIN. CLEARANCE | owe. 5,/19/10
rvPE | sizE | EMBEDMENT | TOMASONRY. - TO ADJACENT. LATCH & DEADBOLTDETAIL  [scae:  N.T.S.
W ; ; — !
TAPCON® /4 1-3/4° 1-1/2 4 /4 CHK. BY:  LFS
ELCO LATCH & DEADBOLT DETAIL DRAWING NO.:
ULTRAC ON® 1/4" 1-3/4" 1 4" w/ Standard Strike TX—4094
SHEET _8 ofF 10

\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 8-3

© 2010 R.W. BUILDING CONSULTANTS INC.



\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 9-3

@

EXTERIOR

INTERIOR

EXTERIOR
] 1/2" GLASS BITE
P\, __1/2'0/A
= GLASS THK.

=g 2
INTERIOR 1A
3A

Gl GLAZING DETAIL
RSL Door Frame

1/8" TEMPERED
GLASS

AIR SPACE

1/8" TEMPERED
GLASS

1=

Gl

1/2" GLASS BITE

. ___1/2"O/A
GLASS THK.
Y | 1/8" TEMPERED
< GLASS
®
P AIR SPACE
4
1 1/8" TEMPERED
GLASS
GLAZING DETAIL

ODL Sidelite Frame

58

EXTERIOR

e

l<— 1/2" GLASS BITE

__1/2"0O/A
GLASS THK.

| 1/8" TEMPERED

< GLASS

AN

INTERIOR o @

\\\ AIR SPACE
4 1/8" TEMPERED
GLASS

GLAZING DETAIL

@)

RSL Sidelite Frame

SOV
S5 B “1‘() L\‘
Sx¥ini bty o
Soigitndy 3
2SR = u¢(‘:‘ )
H‘z?'.: -:I:m o d[\
Pod 3 () A () e
o (0 aizd
gu: fwiw Gz o
5O 15312 Ui0g
guh " 151 FREN
1’ z\/éé'-..' ::9 E .'.OQ{',_,
QXS i P T
lll R
T

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
FIBERGLASS DOOR
GLAZING DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

7/16/15 |Manuf./Product Name Change

NO., DATE

1

REVISIONS

oATE: 5/19/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4094

SHEeT _ 9 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



\Clients\Steves and Sons - Permanent\Texas Dept of Ins\TX-4092-95.dwg, 10-3

.
(7984

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

207 j

1.13"

31

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL
B 2X FRAMING SG >= 0.42 WOOD
C 1/4"' MAX. SHIM SPACE -
J #10 X 3" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW STEEL
M 1X OR 2X REINFORCEMENT SG >=0.55 STEEL
P 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
1 FEMALE LITE FRAME - ODL POLYPROPYLENE
1A FEMALE LITE FRAME - RSL POLYPROPYLENE
2 MALE LITE FRAME - ODL POLYPROPYLENE
2A MALE LITE FRAME - RSL POLYPROPYLENE
3 #8 X 1-3/4" PANHEAD SMS (LIGHT FRAME SCREW) STEEL
3A #8 X 1-1/2" PANHEAD SMS (LIGHT FRAME SCREW) STEEL
4 ALUMINUM SPACER SYSTEM ALUMINUM
5 HOT MELT SEALANT / SILICONE SILICONE
7 WEATHER STRIP FOAM
12 #10 X 2-1/4" PFH SCREW STEEL
16 SIDE JAMB SG >=0.42 WOOD
17 HEAD JAMB SG > =0.42 WOOD
18 4" X 4"HINGE MIN 0.1" THICK STEEL
19 #10 X 3/4" PFH WS STEEL
20 #10 X 2-1/2" PFH SCREW STEEL
21 KWIKSET LOCK -SERIES 690 CP PASSAGE STEEL
22 KWIKSET DEADBOLT -SERIES 690 CP STEEL
23 LATCH STRIKEPLATE STEEL
24 DEADBOLT STRIKE PLATE STEEL
24A DEADBOLT SECURITY STRIKE PLATE STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
29 SIDELITE SPACER VINYL
30 DOOR BOTTOM SWEEP PVC
31 INSWING THRESHOLD ALUM/COMP.
32 ADA THRESHOLD ALUM.
33 OUTSWING THRESHOLD ALUM./WOOD
34 SIDELITE THRESHOLD ALUM./COMP.
40 DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
41 WOOD LOCK BLOCK WOOD
42 HINGE STILE - SG >=0.42 WOOD
43 LATCH STILE - SG >=0.42 WOOD
44 TOP RAIL SG > =0.42 WOOD
45 BOTTOM RAIL COMP./LVL
46 FRAME REINFORCEMENT SG > = 0.42 WOOD
47 POLYSTYRENE FOAM POLYSTYRENE
49 FIBERGLASS SKIN 0.08" MIN. THICKNESS FIBERGLASS
50 SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
52 SIDELITE STILE - SG>= 0.42 WOOD
53 SIDELITE BOTTOM RAIL COMP./LVL
54 SIDELITE TOP RAIL WOOD
56 SLIDE BOLT ROD STEEL
57 SIDELITE FEMALE LITE FRAME - RSL PVC
58 SIDELITE MALE LITE FRAME - RSL PVC
59 #8 X 2" PFH WOOD SCREW STEEL

33 OUTSWING THRESHOLD

4.56"

4.56" ‘
~ LT L 1 m)
/—M i
— (N_
m HEAD & SIDE ?
Jamb
5.62" &
INSWING THRESHOLD

@ SIDELITE SPACER

4.56"

597"

‘ SIDELITE THRESHOLD

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

K
BY

7/16/15 |Manuf./Product Name Change

1

NOJ| DATE

REVISIONS

oATE: 5/19/10

scate:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4094

sHeer 10 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



